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General Instructions :
(i)  First 15 minutes are allotted for the candidates to read the question paper.

(ii)  The question paper is divided into two Parts — Part ‘A’ and Part ‘B°’.

(1i)  Part ‘A* and Part ‘B’ are divided into three Sub-Sections I, 11 and III.

(iv) In Part ‘A’ of the question paper, there are Multiple Choice Type Questions. Select
the correct alternative and then by a blue or black ball point pen, fill completely in
the circle in OMR Answer-Sheet. Do not erase, cut or use whitener on the OMR

(1v),

Answer-Sheet after answering.
(v) 1 mark is allotted for each question in the Multiple Choice Type Questions of Part *A”.
(vi) Part ‘B’ has descriptive questions.
The allotted marks are given in each question.
All the questions of Sub-Sections of Part *B” are to be attempted all at a time. Start each
Sub-Section from a new page.
(ix)  All the questions are compuisory.
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(C) 24w 1 w3 3 (D) 37§ & 1S o 7
4. Toneh g o e, e @ g @ S e T o fer #9 # E H EMEGTE 71
(A) I (B)
(€) A (D) 37U B E FTE o TE
5. oo Targra ofvr & @A aef forgga - v <61 wehré 2 2 1
(A) e (B) uform
(C) #m (D) dfz
6. GUH ey gret d19 gfatdi 1 Joft 9 F Fred § IS gt ey, yere gieiy &
wfetrg @ fopea T 8 7 ;
(A) T fomd (B) T
(C) =T (D) R
7. U 4 gRrETEl faeE ST % 9T AR I S & Terid g 1
(A) @A (B) PemeR
(C) ST (D) AT
9.9 — 11
R, W FEE FH TEANE A 7
(A) Na,CO, - 10H,0 (B) NaHCO,
(C) Na,SO, - 10H,0 (D) NaC/
9. WQWW%
(A) -CHO (B) C=0
O
(Cy -OH (D) —C-0OH
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PART - ‘A’ 20
(Multiple Choice Questions)
Sub-Section - 1

I. A ray of white light passes through the triangular prism made of glass. The maximum

dispersion will be for the colour 1
(A) Red (B) Green
(C) Violet (D) Yellow

2. Atsunrise and sunset the sky around the horizon looks — 1
(A) Whitish (B) Reddish
(C) Bluish (D) Blackish

3. Every ray of light passing through a point in front of the concave mirror, reflects back to
pass through the same point. The point is 1
(A) Pole of the mirror (B) Focus of the mirror
(C) Centre of curvature of the mirror (D) None of the above

4. Which of the following lens is used to see an erect, virtual and smaller in size image of

an object ? 1
(A) Convex (B) Concave
(C) Plane (D) None of the above
5. The unit of current flowing in an electrical circuit is — 1
(A) Volt (B) Ampere
(C) Ohm (D) Watt
6. Three resistances of equal value, are connected in series combination. The resultant
resistance of the combination as compared with each resistance will be 1
(A) one-third (B) half
(C) double (D) triple
7. The magnetic field caused due to current carrying linear conductor will exhibit along 1
(A) Straight line (B) Triangular
(C) Quadrilateral (D) Circular
Sub-Section — 11
8.  Chemical formula of baking soda is : 1
(A) Na,CO,- 10H,0 (B) NaHCO,
(C) Na,SO,- 10H,0 (D) NaCl/
9.  Functional group in Butanone is : |
\
(A) -CHO ® =0
O
I
(C) -OH (D) -C-0OH

824(CK) [40f8] (W-2)
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0. Which of the following gas is released on reacting zinc metal with dilute HC/ ?

(A) Ozone (B) Oxygen
(C) Hydrogen (D) Nitrogen
1. pH value of pure water is :
(A) 0O (B) 1
(Cy 7 (D) 14
12. Amalgam is :
(A) Sub-metal (B) Alloy
(C) Compound (D) Heterogeneous mixture

13. Which of the following hydrocarbon is alkene ?
(A) Methane (B) Ethane
(C) Ethylene (D) Acetylene

Sub-Section - III
I4. Reproduction by binary fission is found in —

(A) Paramoecium (B) Amoeba
(C) Euglena (D) All of the above

15, Atrium and Ventricle are the part of which human organ ?
(A) Heart (B) Liver
(C) Kidney (D) Brain

16.  Which one of the following is not a plant hormone ? 1
(A) Auxin (B) Gibberellin
(C) Insulin (D) Cytokinin

17.  Reproductive organs of flower are — 1
(A) Calyx and Stamens (B) Corolla and Gynoecium
(C) Stamens and Gynoecium (D) Gynoecium and Corolla

8. Mendel studied maths and science from which university ? 1
(A) Oxford University (B) Madras University
(C) Vienna University (D) Paris University

19, Which one of the following pairs are dominant characters as per Mendel ? 1
(A) Long stem and Wrinkled seeds (B) Long stem and rounded seeds
(C) Long stem and Green cotyledones (D) None of the above

20).  Which forms the first trophic level in food chain ? 1
(A) Producers (B) Secondary consumers
(Cy Primary consumers (D) Tertiary consumers

824(CK) [50i8] (W-2) P.T.O.
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§vE - ‘¥ / PART- ‘B’ 50

(FufATed® W94 )(Descriptive Questions)
39971 — [ / Sub-Section — |

| () smEmE H an a2 feafenma @ ¢ wweed | 2
(i) 3r9add & fram fafay | 2
(i) ~ Why the stars twinkle in sky ? Explain. 2
(ii)  Write down the laws of refraction. z
2 () 3ATE ) gE - E R A 2 7 2
(ii) 50 &t Hiaw gl a1t I TIF 1 &HaT 1 T HITC | 2
2. (i)  What is meant by power of accommodation of eye ” 2
(i1) Calculate the power of a convex lens of focal length 50 cm. 2
3.0 (i) 3w Frm e g9 aftd T E9 @ g | 2
(i) Fererdra wfirtrent @1 doft 5w @diem @0 R 2 g afe awErEd | 2
3. (i) Whatis Ohm's law ? Explain clearly with it’s formula. 2
(i) What is the series combination of resistances ? Explain with it’s formula. 2
4. () Al S ar gy w5 fm Fn R 7 gueEe | 2
(ii) efaroresa 3iE frm Fa1 2 7 THHTET | 2
i) 2 3 shREd 3 fy @ ufd dee 100 TE S 3 8 T 2 | S J sared
YT ST T I | https://www.upboardonline.com 2
HAYET
(i) Wﬂ%ﬁ@am@wmwm—%wﬁmﬁﬁtm%? 3
(i) aTT= Ete fera it T U e ST A | 3
4. (i) Whatis Fleming’s Left hand rule ? Explain. 2
(i) What is the Right-hand thumb rule ? Explain. D
(iii) 100 Joule/sec heat is produced in a resistor of resistance of 2 Q. Calculate the
current flowing in the resistor. 5
OR
(i)  What are the factors on which force on a current carrying conductor placed in a
magnetic field depends ? 3
(ii) Draw a distribution diagram of general domestic electric circuit, 3
39-77 — II / Sub-Section — 11
s maﬁmﬁammmmﬁm; 1+1+1+1=4
(i) $fowan BSSTAETES + e SRS —— HicaTm FEHE + 9
iy o + feat AMgge —— e mgge + faer
(i) AT + FEGIA — > F
(iv) aftm FAUES + BifeTm gethe > ST Tehe + Hifsam Fese
5. Write the balanced chemical equation for the following reactions : T+1+141=4
(i) Calcium hydro.\'idc + C.'arb(}r! d|t1}§|de —-?_( alcium carbonate + Water
(i) Zinc + Silver nitrate —— Zinc nitrate + Silver
(i) Nitrogen + Hydrogen —=> Ammonia _ -
(iv) Barium chloride + Sodium sulphate —— Barium sulphate + Sodium chloride

824(CK)
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o () TErElE gt g HRo AiRe qwgme

maﬁ@gaﬁf@wmﬁ%ﬁWﬁmmﬁaﬁwmﬂmﬁmi kK
(i frefefga &1 amé g do i am fafeu .
0
]
(@ CH;-C-OH
(by HCHO
6. (i)  Explain with reason by chemical equation : 2
When copper rod is dipped in silver nitrate solution, it turns blue. Why ?
(1) Write IUPAC name of the following : 1+1=2
0O

|
(3 CH,-C OH

(b)Y HCHO

2

1+1=2

7. BT RIE ? aﬁ'ﬁmm%{ﬁiﬁl 1+1+41+1+1+1=6
(i) oz veafrmaad
(ii)  Ffcoram Fieamge 9@ A Br s 2 |
(i) 7T T AR W AA ) aTS7 Tt FQ 8 |
(iv) TARTe @5 H,S0, % s F a 443 K s § |
(v) T tewiEie afsmm s R wwm
(vi) BN HIGEA RN |

HYST
Fferftga o aftea feomoft ferfa 2424226
(i) TR
(i) ETggrareRter Ffufsran
(iii) erspa Tiftran
7.  What happens when ? (Write chemical equation only.) 1+41+1+14+1+1=8
(1)  Sodium reacts with water.
(i1) Calcium oxide reacts with water.

(ii1) Water vapours are passed through red hot iron.
(iv) Ethanol is heated with excess of concentrated H,SO, at 443 K.

(v) Ethyl alcohol reacts with sodium,
(vi) Methane is combusted.
OR
Write short notes on the following : 2+424+2=8
(i)  Saponification
(i) Hydrogenation reaction
(iti) Rancidity
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I9-9FT — 111 / Sub-Section — 11

8. HTET TG TS ITET AT & Frofl 3 YaTg Y Iereer wiga sAreH Hird | 2+2=4
8. Explain the flow of energy in food chain and food-web with example. 2+2=4
9. T3 A & Rrdi @ v wifa Rroqoft Refad - 2+2=4
(i) 3MER a3 g % ¥ H vge
(i)  FU TaH
(iil) N R SR & T TRwRE 2 =Te fifr |
?- Write short notes on any two of the following : 2+2=4

(1} Importance of sun light in food chain
(1)  Waste Management

(i) Ozone layer is beneficial or harmful 7 Explain.

10. 5+ % faftrean 3 e w0 o fraey Rt | a
10.  Write an essay on importance of variations in reproduction. 4
1. AR ? Aa ¥ - 1 far & wfm gl difte | 145
HYqr

wE YRR # Frim va s ¥g ainiea oY gt W o Fraey R | 6
11.  What is digestion ? Describe in detail the digestive process in humans with suitable

diagram. 1+5

OR
Write an es'say on role of hormones for co-ordination and control in human body. 6
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